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BAREM DE EVALUARE SI NOTARE

SUBIECTUL I: USE OF ENGLISH (50 POINTS)

1. Choose the correct answer: (1px 15=15 p)
1.B 4, A 7.B 10. A 13.C

2.C 5.C 8.B 11.C 14.A
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6.C 9.A 12.B 15.C
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. Correct the mistakes. (2p x 10= 20 p)

Used to...
Goes...

Did..... die
Mustn’t/ may not
Stops

Where

Whose

Not to get
Written

0. ... did he?
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3. Use the word given in brackets to form a word that fits in each sentence.
(Ip x 5=5p)

1. impatient
2. homeless
3. protective
4. unpleasant
5. cooker



4. Think of the word, which best fits, each space. Write only one word

in

each space: (1X10=10 p)
1. in

2. better
3. when

4. will

5. go

6. the/ this
7. to

8. on

9. me
10.after

SUBIECTUL II: READING COMPREHENSION (25 PUNCTE)

Read the text and answer the following questions: 5x5p=25p
Answers 1-5:

- information correctness  (2p)
- grammatical correctness  (1p)
- word order and accuracy  (1p)

- spelling (1p)

Suggested answers:

1. Because he is writing an article about eating around the world.

2. Because it is a pleasant place in summer, with mild temperatures and
fantastic views of the icebergs on the sea just in front of the village.

3. They can find berries and seaweed.

4. The problem is that summer is too short and not long enough for the
Inuits to grow vegetables.

5. The surprise is that despite eating a lot of animal fat the Inuits are healthy.

* All alternative correct answers, not covered by the mark scheme,
are graded.

SUBIECTUL IlI: WRITING (25 POINTS)
1. Task achievement — 5p. ;
2. Organization and cohesion — 5p.(logical expression of ideas) ;
3. Vocabulary — 5 p. (at least 4 topic related vocabulary items) ;
4. Structures — 5p. (less than 3 grammar errors are not penalized;- 1p. for
every three errors);
Effect on target reader-5p



